ST. HELENA PARISH PLANT ENTERPRISES PRODUCTION
--

	Number of		Yield per		Total	Units of	Gross Farm
Crop	Producers	Acres	Acre		Production	Measure	Value
FORESTRY							
Pulpwood							
Pine					38,427	cords	
Hardwood					13,355	cords	
Pulpwood (Total)					51,782		
Chip & Saw (Total)					19,214	cords	
Saw Timber							
Pine					5,276,941	board feet	
Hardwood					2,089,522	board feet	
Saw Timber (Total)					7,366,463		
Total Pulpwood, Chip & Saw,							\$9,406,318
Saw Timber FOB Mill							
Total Forestry Stumpage							\$4,597,600
(Total)							
Christmas Trees (Total)	*				250	trees	\$10,000
Forestry (Total)							\$9,416,318
FRUITS							
Blackberries (Total)	*	1.0	1,450.00		1,450	pints	\$2,538
Blueberries (Total)	*	2.0	650.00		1,300	lbs.	\$2,535
Peaches (Total)	*	1.0	85.00		85	bu.	\$3,400
Fruits (Total)		4.0					\$8,473
FEED GRAINS							
Corn (Total)	8	1,000.0	100.00		100,000	bu.	\$265,000
Feed Grains (Total)		1,000.0					\$265,000
GREENHOUSE VEGETABLES							
Tomatoes (Total)	*	42,000.0	5.00	Yield / sq. ft.	210,000	lbs.	\$283,500
Greenhouse Vegetables (Total)		42,000.0					\$283,500
HAY FOR SALE							
Grass (Total)	25	375.0	3.00		1,125	tons	\$103,950
Hay for Sale (Total)		375.0					\$103,950
Home Gardens (Total)	470						\$94,000
ST. HELENA PARISH							

ST. HELENA PARISH

PLANT ENTERPRISES PRODUCTION

Crop	Number of Producers	Acres	Yield per Acre	Total Production	Units of Measure	Gross Farm Value
NURSERY CROPS	Troducers	710103	Tiere	Troduction	Wicasure	v arde
Floraculture & Bedding	*				acre	\$25,000
Plants (Total)					acre	\$25,000
Woody Ornamentals (Total)	*				acre	\$60,000
Foliage Plants (Total)	*				acre	\$30,000
Nursery Crops (Total)					acre	\$115,000
VEGETABLES						\$115,000
Collards						
Fresh	*	1.0	575.00	575	doz. bunches	\$4,025
Collards (Total)		1.0	373.00	373	doz. bulleties	\$4,025
Garlic (Total)	*	2.0	2,500.00	5,000	1hs	\$25,000
Mustard (Fresh) (Total)	*	3.0	575.00	, and the second	doz. bunches	\$12,075
Green Onions (Total)	*	1.0	1,400.00	1,400		\$4,200
Shallots (Total)	*	0.5	600.00	*	doz. bunches	\$2,100
Snap Beans (Fresh) (Total)	*	9.0	130.00		bu. (30 lbs.)	\$35,100
Southern Peas (Fresh) (Total)	*		100.00	· ·	bu. (24 lbs.)	\$25,000
` ' ' ' '	*	10.0		· · · · · · · · · · · · · · · · · · ·	` /	· ·
Tomatoes (Field) (Total)		8.0	1,600.00	· · · · · · · · · · · · · · · · · · ·	lugs (20 lbs.)	\$256,000
Watermelon (Total)	*	14.0	200.00	2,800	cwt.	\$22,400
Vegetables (Total)		48.5				\$385,900
TOTAL ALL PLANT ENTERPRISE	ES					\$10,672,141

ST. HELENA PARISH	FISHERIES &	: WILDLIFE ENTERPRISES PRO	DDUCTION		
Fisheries	Number of Producers	Units of Production	Total Production	Units of Measure	Gross Farm Value
Fur Animals (Total)			106	pelts	\$2,099
HUNTING LEASES					
All Other Game (Total)	600	190,000 No. Acres Leased		acre	\$1,330,000
Hunting Leases (Total)					\$1,330,000
TOTAL ALL FISHERIES &	WILDLIFE ENTERPRISES				\$1,332,099
	ANIM	IAL ENTERPRISES PRODUCTION	ON		
	Number of	Units of	Total	Units of	Gross Farm
Animal	Producers	Production	Production	Measure	Value
CATTLE & CALVES					
Steer Calves					
300-400 lbs.			500	head	\$248,553
400-500 lbs.			465	head	\$259,365
500-600 lbs.			140	head	\$85,709
600-700 lbs.			115	head	\$79,048
Steer Calves (Total)					\$672,675
Heifer Calves					
300-400 lbs.			400	head	\$176,582
400-500 lbs.			200	head	\$104,355
500-600 lbs.			185	head	\$106,949
600-700 lbs.			70	head	\$46,628
Heifer Calves (Total)					\$434,515
Yearling Cattle					
600-700 lbs.			73	head	\$47,426
700-800 lbs.			81	head	\$57,682
Yearling Cattle (Total)					\$105,108
Cow-Calf Pairs (Total)			250	pair	\$237,553
Cull Cows (Total)				head	\$302,600
Cull Bulls (Total)			65	head	\$54,961
Cattle & Calves (Total)	157	3,225 No. Cows			\$1,807,411

ST. HELENA PARISH

245

ST. HELENA PARISH

ANIMAL ENTERPRISES PRODUCTION

	Number of	Units of		Total	Units of	Gross Farm
Animal	Producers	Production		Production	Measure	Value
DAIRY						
Dairy Cows						
Milk	26	3,350	No. Adult Cows	47,871,103	pounds	\$7,017,904
Bred Heifers				99	head	\$171,765
Adult Cows				64	head	\$89,600
Cull Cows				887	head	\$498,938
Bull Calves				1,506	head	\$75,300
Breeding Age Bulls				15	head	\$16,500
Dairy Cows (Total)						\$7,870,006
Dairy (Total)						\$7,870,006
HORSES						
Brood Mares						
Show Horses	7	100	No. Brood Mares	87	head	\$348,000
Recreation Horses	325	445	No. Brood Mares	380	head	\$570,000
Brood Mares (Total)						\$918,000
Stud Fees						
Show Horses		14	No. Stallions	75	mares bred	\$112,500
Recreation Horses		30	No. Stallions	105	mares bred	\$52,500
Stud Fees (Total)						\$165,000
Recreation Horses (Total)	385			950	head	\$1,425,000
Horses (Total)						\$2,508,000
POULTRY						
Edible Eggs (Total)	*	856,098	No. Hens	19,618,905	doz. eggs sold	\$14,007,898
Cull Hens (Total)				117,000,000	lbs.	\$7,020,000
Poultry (Total)						\$21,027,898
Quail (Total)	*	1,000	No. Breed	16,500	each	\$33,000
			Stock			
GOATS						
Show Goats (Total)				42	head	\$10,500
Slaughter Goats (Total)				63	head	\$7,875

GOATS					
Stocker Goats (Total)			63	head	\$5,985
Cull Goats (Total)			34	head	\$2,210
Goats (Total)	10	150 No. Does			\$26,570
SWINE					
Show Pigs (Total)			25	head	\$7,000
Feeder Pigs (Total)			115	head	\$3,450
Slaughter Hogs (Total)			39	head	\$4,689
Culls (Total)			11	head	\$1,760
Swine (Total)	*	35 No. Sows			\$16,899
TOTAL ALL ANIMAL ENTERPRISE	S				\$33,289,784

ST. HELENA PARISH \$45,294,024 247